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1 100kN/m#z#Z25| 1.00 | 0.00 ~ 269 142,45 |3mEEZBH| — ~ — — — | 100kN/M%ZE#BZ3 | 1.00 | 11.21 ~ 3513 | 14245 |3mZEBZ5 -~ — — —
ZhLs 1.00 1 269 ~ 1048 100.00 | LS | 000 ~ 1048| 2.92 14.78 ZhLs 1.00 |1 6.00 ~ 1121 100.00 | ThS | 6,00 ~ 3513|292 14.78
2 100kN/m%Z#%5%| 100|000 ~ 250 139.18 |3mZE#BZB| — ~ — — — | 100kN/m%E#Bz25 | 1.00 | 11.561 ~ 3514 139.18 |3mZE#BZ5 -~ — — —
ZhLs 1.00 |1 260 ~ 1029 100.00 | EnLS | 000 ~ 1029| 2.89 14.59 ZhLs 1.00 | 6.00 ~ 1151 100.00 | ThS | 6,00 ~ 3514 | 2.89 14.59
3 100kN/mM#Z#BZ5| 1.00| 000 ~ 205| 131.74 |3m&EFEZB| — ~ — — — | 100kN/mM#Z# A5 | 1.00 | 12.36 ~ 34.74 131.74 |3mZ&HBAS -~ — — —
ZhLs 1.00 | 205 ~ 984 100.00 | =nllst | 000 ~ 984|281 14.20 ZhLs 1.00 | 5.00 ~ 1236 100.00 | ThS | 5,00 ~ 34.74 | 2.81 14.20
4 100kN/mM#Z#BZ5| 1.00| 000 ~ 228| 13549 |3m&EFExB| — ~ — — — | 100kN/M%ZE#BZ3 | 1.00 | 11.61 ~ 2982 | 13549 |3mZEHBZ% -~ — — —
ZhLs 1.00 | 228 ~ 1006 100.00 | LS | 000 ~ 1006| 2.78 14.03 ZhLs 1.00 | 6.00 ~ 1161 100.00 | ThS | 6,00 ~ 2982|278 14.03
5 100kN/m#z#Z25| 1.00 | 000 ~ 033 104.81 |3m&FEZBH| — ~ — — — | 100kN/M%ZE#BZ3 | 1.00 | 11.04 ~ 1207 | 104.81 |3m%EBZ3 -~ — — —
ZhLs 1.00 | 0.33 ~ 811 100.00 | =nllst | 000 ~ 811|204 10.33 ZhnLs 1.00 1 56.00 ~ 1104 100.00 | ThS | 6,00 ~ 1207|204 10.33
6 100kN/m%i#B2% | 1.00| 000 ~ 097 114.59 |3mZEBZZ| — ~ — — — | 100kN/m%E#Bz25 | 1.00 | 1211 ~ 1677 114.59 |3mZE#BZ5 -~ — — —
ThLs 1.00 | 097 ~ 876 100.00 | =nllsy | 000 ~ 876213 10.75 ZhLs 1.00 |1 6.00 ~ 1211 100.00 | ThS | 6,00 ~ 1677|213 10.75
” 100kN/m#z#z25| 1.00| 000 ~ 122 11846 |3mEFEZBH| — ~ — — — | 100kN/M%ZE#BZ3 | 1.00 | 11.15 ~ 1600 | 11846 |3mZEBZ3 -~ — — —
ZhLs 1.00 | 1.22 ~ 9.01 100.00 | =nllst | 000 ~ 901|221 11.15 ZhLs 1.00 | 6.00 ~ 1115 100.00 | ThS | 5,00 ~ 16.00| 2.21 11.15
g 100kN/m%#8%5%| 100|000 ~ 125| 11889 |3mZz#BZB| — ~ — — — | 100kN/m%#Bz25% | 1.00 | 1080 ~ 1530 11889 |3mZE#BZ5 -~ — — —
ZhLs 1.00 | 1.25 ~ 9.03 100.00 | =nlst | 000 ~ 9.03)| 2.26 11.41 ZhnLs 1.00 | 5.00 ~ 1080 100.00 | ThS | 5,00 ~ 1530| 2.26 11.41
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#8Z % ~ ImEEZD ~
Zn LS ~ TS ~ Zn s ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#BZ % ~ ImEEZD ~
Zn LS ~ TS ~ Zn LS ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zn s ~ LS ~ Zn s ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zn LS ~ TS ~ Zn s ~ ZhLS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zn LS ~ TS ~ Zn s ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#BZ % ~ ImEEZD ~
Zn LS ~ TS ~ Zn LS ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Fh s ~ Zh LS ~ Fh s ~ Zh LS ~




